Missing Decimal Multiplicand

Name:

Find the missing multiplicand.

0.3 x B = 0.21 0.2 x
0.5 x B = 04 0.3 x
1.8 x B = 0.36 1.5 x
02 x B = 0.38 1.3 x
0.8 x B = 2 0.6 x
2.6 X B = 0.78 04 x
1.1 x B = 0.11 0.2 x
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Answers

Find the missing multiplicand.

0.3 x 0.7 | = 021 02 x 0.12

0.5 x 04 03 x

0.27 0.1 x = 0.05
1.8 x = 0.36 1.5 x = 0.75 32 X = 0.64
02 x = 038 1.3 x = 1.17 0.2 x = 0.26

0.8 x : 2 0.6 x : 0.06 1.7 x : 2.38

2.6 X = (.78 04 x 0.2 | = 0.08 03 x 24 | = 072

1.1 x = 0.11 0.2 x 1.8 | = 036 1.2 x 0.2 | = 024
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